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Problem 1: (20 points)
Consider an industry in a given country. The industry is characterized by mo-

nopolistic competition and increasing returns to scale. Firms produce differentiated

goods and have heterogeneous productivity.

a) The country moves from a situation of autarky to free trade. What is the impact

on the firms in the industry. Explain and illustrate your results graphically.

b) What happens to average productivity in the industry as we move from autarky

to free trade and why? Explain.

Problem 2: (30 points)
Consider an economy (Home) with two factors of production, labor and capital.

Production and markets are characterized by constant returns to scale and perfect

competition respectively. A government is considering opening the country to free

immigration.

a) Under what circumstances will the country experience immigration? Under what

circumstances will the country experience emigration?

b) Describe the nature of the short run equilibrium with immigration. Explain and

illustrate your answer graphically.

c) In the short run, what groups will gain and what groups will lose from immigra-

tion?

d) Describe the transition to, and the nature of, the long run equilibrium with im-

migration. Explain and illustrate your answer graphically

e) In the long run, what groups will gain and what groups will lose from immigration?

f) Assume instead that the world is characterized by imperfect competition and in-

creasing returns to scale. Discuss the impact of free immigration on the welfare

of different groups.
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Problem 3: (20 points)
Consider two economies of sizes L and L∗ respectively, where L > L∗. All re-

sources in both economies are employed in the monopolistic competitive sector. Equi-

librium number of varieties in each economy is n and n∗. Assume that they can trade

with iceberg costs of τ > 1. In the monopolistic competitive sector demand for any

product j is given as:

qj =
p−σj
P 1−σ

Y

Each firm has monopoly power over a single variety j. Assume that in order to

operate, a firm must pay a fixed cost f and a variable cost bxj , and that we can write

profits as

πj = pjxj − w(bxj + f)

a) Explain the meaning of each of the variables pj , P and Y.

b) qj constitutes the demand for a domestically produced variety. State the expres-

sion for demand for an imported variety and explain the difference between the

two.

c) Does welfare differ for residents of the two countries? Explain.

Problem 4: (30 points)
Consider two economies of sizes L and L∗ respectively, where L = L∗. Assume

that the countries can trade with iceberg costs of τ > 1. Let us assume that each

economy may potentially be active in two sectors, one sector is characterized by con-

stant returns to scale (agriculture) and one sector is characterized by monopolistic

competition (manufacturing). Workers move between sectors but not between coun-

tries. Consumers spend γ share of their income on manufacturing products. Firms

spend µ share of their costs on intermediates produced in the manufacturing sector

and 1− µ on labor.

a) Describe the possible equilibria and industrial structures. Explain and illustrate

your answer graphically.
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b) Assume that trade is liberalized gradually over a longer period. Does trade liber-

alization lead to factor price equalization? Explain and illustrate your answer

graphically.

3


